CSIR-Central Building Research Institute
Roorkee 247 667 (Uttarakhand)

-
.

ubN
e

it

No. 76(2)3/2023- R&A Dated 24.06.2025
Notification to Advt. No. CSIR-CBRI-2/2025

With reference to this office notification to the advertisement no. CSIR-CBRI-8/2025 of even no. dated 23.06.2025 the

objections/challenges in respect of answer keys of Paper | of Written Examination received from the candidates on the designated

portal within the stipulated date and time has been considered by the Objection Redressal Committee for the redressal.

After critically examining all the objection/ challenges raised -by 't'he"z-candidates, the Objection Redressal Committee redressed all the
challenges/objection.

Accordingly, on the basis of correct answer and corrective measure all the OMR answer sheets have been modified and displayed for
the information of all the candidates as under:-

SINo Candidate Id Roll No Name Question Id Objection Type Objection Description Remarks
1 | CcBRI0000830 | JsT2540202 | MR SUGANDH 1 other It should be rechecked. Option invalid challenge
VISHNOI no. A will be the right answer.
2 CBRIO000407 1ST2540461 MR KUNAL SONI 10 other Pls check again invalid challenge
3 CBRI0000407 1ST2540461 MR KUNAL SONI 102 other Pls check again invalid challenge
Paragraph 1 -Words typed in
MR YUVRAJ o haste..... conveyed with easg. . '
4 CBRI0000732 JST2540304 SINGH 102 § other Hasty word typing happens in invalid challenge
instant messaging so the answer
might be c?
MR SUGANDH it should be rechecked. Option . .
5 CBRI0000830 JST2540292 102 nvalid challenge
VISHNOI 0 | other no. C will be the right answer mnvalid e 8
6 | CBRI0000152 | JST2540026 | MISS HIMANSHI 102 other According to paragraph 1's in 6 invalid challenge
line option 3(c) is correct
The question is
MR VANSHAJ ambiguous or L
7 CBRI000024 T, lid chall
5 JST2540086 NARULA 102 doesr’t make invalid challenge
sense.
8 CBRI0O000950 JST2540376 M;N'TAONHDIT 109 other Cross verify invalid challenge
The question is
9 | CBRIO000651 | IST2540302 MR VISHAL 109 ambiguous or invalid challenge
KUMAR doesn’t make
sense.
The question is
10 | CBRI0000245 | IsT2540086 | MR VANSHAJ 109 ambiguous or invalid challenge
NARULA doesn’t make
sense.
11 | CBRIO000830 | IsT2540202 | MR SUGANDH 112 other it should be rechecked. Option invalid challenge
VISHNOI no. B will be the right answer
The question is
12 | CBRIO000245 | IsT2540086 | "M% VANSHAJ 112 ambiguous or invalid challenge
NARULA doesn’t make
sense.
The question is
MR VANSHAJ ambiguous or L
13 CBRI0000245 JST2540 lid challenge
086 NARULA 115 doesn’t make mvaid ¢ €
sense.
14 CBRIO000950 JST2540376 MR ROHIT 12 other Re check invalid challenge
ANAND
MR HEMANT Only C?ptlon Als squarg and cube . .
15 CBRIO000588 1ST2540129 KUMAR 12 other series but other options are invalid challenge
square series.
HEAT 64 HaoT 4 HET 4 T T
16 CBRIO000138 JST2540462 | MR LALIT KUMAR 12 other &1 STehY TEaTT foReY T O Y invalid challenge
gl

&
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SINo Candidate Id Roll No Name Question Id Objection Type Objection Description Remarks
17 | CBRIO000830 | JsT2s40292 | MRSUGANDH 120 other it should be rechecked. option invalid challenge
VISHNOI no. A will be the right answer.
18 CBRI0O000407 1ST2540461 MR KUNAL SONI 121 other Pls check again invalid challenge
MR SUGANDH it should be rechecked. Option L
19 CBRI00008 1ST2540292
30 ST254029 VISHNOI 124 other no. D will be the right answer. invalid challenge
20 CBRI0000651 1512540302 MEJ':AS:RAL 124 other sharp could be correct answer invalid challenge
Sir in this question you gave
answer articulate but we need
21 | CBRIO000933 | JST2540378 MR SACHIN 124 other adjective articulate is verb form invalid challenge
so sincere is adjective form and
gave same meaning in this
question correct option is (D)
The question is
22 | CBRI0000245 | JsT2540086 | MR VANSHAJ 124 ambiguous or invalid challenge
NARULA doesn’t make
sense.
23 CBRI0000407 1ST2540461 MR KUNAL SONI 126 other Pls check again invalid challenge
MR SUGANDH it should be rechecked. Option A
24 CBRIO000830 JST254 | It
540292 VISHNOI 129 other no. D will be the right answer. nvalid challenge
The question is
25 | CBRIO000S8S | JsT2540120 | MRHEMANT 132 ambiguous or invalid challenge
KUMAR doesn’t make
sense.
{ The question is
26 | CBRI0000245 | JIsT2540086 | MR VANSHAJ 136 ambiguous or invalid challenge
NARULA doesn’t make
sense.
27 CBRIO000950 JST2540376 M:NTNHDIT 139 other Check it again invalid challenge
28 CBRI0000407 JST2540461 MR KUNAL SONI 139 other Pls check again invalid challenge
MR SUGANDH it should be rechecked. Option .
29 CBRI T. 2 1 lid challenge
0000830 157254029 VISHNOI 39 other no. B will be the right answer. invalid chatleng
30 CBRI0000269 1ST2540428 MR QSEE&TAN 139 other Correct answer is option B told invalid challenge
The question is
31 | CBRI0000245 | JsT2540086 | MR VANSHAJ 139 ambiguous or invalid challenge
NARULA doesn’t make
sense.
The sentence is in past tense so
i according to that verb should also A
32 CBRI0000691 JST2540248 MISS KANIKA 139 other . invalid challenge
be in past. So, answer should be
option B
33 CBRIO000016 1ST2540416 MR AMIT 139 other Tell &Y 519 g told HATUITT invalid challenge
34 CBRI0O000407 1ST2540461 MR KUNAL SONI 143 other Pls check again invalid challenge
The question is
35 | CBRIO000245 | JsT2540086 | MR VANSHAJ 143 ambiguous or invalid challenge
NARULA doesn’t make
sense.
The question is
36 | CBRIO000245 | JsT2540086 | % VANSHAJ 147 ambiguous or invalid challenge
NARULA doesn’t make .
sense. ( / J
Page 2 of 12 )&@V,




SINo Candidate Id Roll No Name Question'id - | Objection Type Objection Description Remarks
If we multiply 2 with 2 then we
get 4. If we multiply 4 with 3, we
get 12. Again, if we multiply 12
ith 2 t 48. S ding t L
37 | CBRIO000691 | JST2540248 | MISS KANIKA 15 other With 2, we get 28. 50 according to invalid challenge
this pattern 48 should be
multiplied with 3. We get 144
from this. So correct answer
should be option C
38 CBRI0000950 1ST2540376 M:Ni?“HST 150 other Check it again invalid challenge
The committee is singular subject
39 CBRI0000152 JST2540026 | MISS HIMANSHI 150 other so the verb is also in singular invalid challenge
form so option c is correct.
40 CBRI0000269 JST2540428 MR :S::&IA/IAN 150 other Option B and D both are correct invalid challenge .
The question is
MR VANSHAJ ambiguous or .
41 BRI 24 T2541 lid challenge
CBRI0000245 1ST2540086 NARULA 150 doesr’t make invali g
sense.
42 CBRI0O000407 JST2540461 MR KUNAL SONI 154 other Pls check again invalid challenge
The question is
MR VANSHAJ ambiguous or S
4 CBRI1000024 T2541 lid challenge
3 0000245 1572540086 NARULA 154 doesn’t make invalid challeng
sense.
44 CBRI0000407 JST2540461 MR KUNAL SONI 159 other Pls check again invalid challenge
The sentence “He enjoyed playing
football” is grammatically correct.
The verb “enjoy” is followed by a
45 CBRI0000152 JST2540026 MISS HIMANSHI 159 other gerund (verb+ing) form, which is invalid challenge
the correct structure. Therefore,
this (c) option should be
considered correct
Correct Answer is B.
MR ROHIT . . . .
46 CBRIO000950 JST2540376 ANAND 162 other Check it again Accordingly marks will be
given
Correct Answer is B.
47 CBRI0000407 JST2540461 MR KUNAL SONI 162 other Pls check again Accordingly marks will be
given
"She said me the truth,” the verb
"said" is used incorrectly. The
correct verb should be "told."
That’s why Option B (said) is
incorrect and should be replaced.
As sentence "She told me the
truth" is correct and it replaced
MR YASH the word 'said' so option b is Correct Answer is B.
48 CBRIO000003 JST2540526 KARWASRA 162 other correct. Accordingly marks will be
.Answer key says Option C (me) is given
the error, it's actually the verb
"said" that causes the
grammatical mistake.
The word "me" would be fine if
the correct verb ("told") were
used. So, Option B is correct
based on standard grammar rules.
Sir according to the question we
have to find the error not remove
it.
MR YUVRAI ' Corrfect Answer is _B.
49 CBRIO000732 JST2540304 SINGH 162 other She said me the truth. Accordingly marks will be
The error is said as said should be given
replaced with told.
So according to me the answer is
B
Correct Answer is B.
MR SUGANDH it should be rechecked. Option . .
50 CBRI0000830 JST2540292 162 A dingl k b
VISHNOI 6 other no. B will be the right answer. ccordingly marks will be

given
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SI No Candidate Id Roll No Name Question Id | Objection Type Objection Description Remarks
Correct Answer is B.
MR VISHAL b . .
51 CBRIO000651 JST2540302 KUMAR 162 other said ki jagah told hoga na Accordingly marks will be
given
MR HEMANT The correct sentence is "She told Correct Answer is B.
52 CBRI0000588 JST2540129 KUMAR 162 other me the truth. Accordingly, the Accordingly marks will be
correct answer is Option B. given
“She told me the truth."
Explanation:
"Say" vs. "Tell"
"Say" does not take a direct object
(the person being spoken to).
X Incorrect: “She said me the truth."
Correct: "She said the truth." (if no Correct Answer is B.
53 CBRIO000933 JST2540378 MR SACHIN 162 other listener is specified). Accordingly marks will be
given
"Tell" requires a direct object (the
listener).
Correct: "She told me the truth."
" Correct Structures:
"Say": "She said [something]." (e.g.,
"She said hello.")
TN, UClhn #alA T 1
She told me the truth or she said
to me the truth both are the right
structure. In the question no 162
'me’ is correct said should be
changed into told or said is
converted to 'said to' but the Correct Answer is B.
54 CBRIO000755 JST2540278 MISS RITA BISHT 162 other question states that we have to Accordingly marks will be
find error in this case "said" given
should be the error... This
question is creating ambiguity
whether "said" Should be
converted into "told" Or whether
we have to insert "to" after "said".
MR VANSHAI Th:ﬂ:iuestxon |rs Correct Answer is B.
55 | CBRIO000245 | JST2540086 162 amblguous o Accordingly marks will be
NARULA doesn’t make .
given
sense.
The sentence should be in past
tense. So it should be like this, Correct Answer is B.
56 CBRIO000691 JST2540248 MISS KANIKA 162 other She told me the truth. Said Accordingly marks will be
should be written told. So the given
correct answer should be option B
The;uestlon is Correct Answer is B.
57 | CBRIO000016 | JST2540416 MR AMIT 162 amblguous or Accordingly marks will be
doesn’t make .
given
sense.
MR SUGANDH it should be rechecked. Option . .
58 CBRIO000830 JST2540292 1 lid challenge
VISHNOI &5 other no. A will be the right answer. nval &
The question is
MR VISHAL ambiguous or N
59 CBRIO000651 JST2540302 |
KUMAR 165 doesn’t make invalid challenge
sense.
60 CBRI0000407 1ST2540461 MR KUNAL SONI 168 other Pls check again invalid challenge
The correct sentence is "This is
61 | CBRIO000S88 | JsT2540129 | MRHEMANT 169 other the boy who I was talking about. invalid challenge
KUMAR Accordingly, right answer is
Option A.
The question is
MR ANSHUMAN ambiguous or . .
62 CBRI0000269 JST2540428 169 lid chall
SHARMA doesn’t make invalid challenge
sense.
The question is
MR VISHAL ambiguous or . .
63 CBRI0000651 1ST2540302 171 lid chall
KUMAR doesn’t make invalid chatlenge
sense.
MR VISHAL
64 CBRI0000651 JST2540302 KUMAR 172 other no comment invalid challenge
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SINo Candidate Id Roll No Name Questionid | Objection Type Objection Description Remarks
The question is
MR VANSHAJ ambiguous or L
invalid challenge
65 CBRI0000245 1ST2540086 NARULA 172 doesr’t make g
) sense.
MR SUGANDH o it should be rechecked. Option A
invalid challenge
66 | CBRIOOO0830 | JST2540292 VISHNOI 174 other no. D will be the right answer. v &
67 | CBRIOD00651 | JST2540302 MR VISHAL 174 other question was already improved invalid challenge
KUMAR version
The question is
MR VANSHAJ ambiguous or R .
T lid challenge
68 CBRI0000245 1ST2540086 NARULA 174 | doesr’t make invalid challeng
sense.
69 | CBRIO0009S0 | IST2540376 M:NZ%HD'T 179 other Check it again invalid challenge
70 CBRI0000407 1572540461 MR KUNAL SONI 179 other Pls check again invalid challenge
MR SUGANDH it should be rechecked. Option -
71 CBRI0000830 JST2540292 179 lid challenge
VISHNOI other no. B will be the right answer. invaiid chafleng
72 CBRI0000651 1572540302 MELY;/SI:QL 179 other option could be true invalid challenge
The question is
MR VANSHAJ ambiguous or L
73 CBRI0000245 JST2540086 183 lid challenge
NARULA doesn’t make invaiid chaflens
sense.
74 CBRI0O000950 1ST2540376 M:NTNHD” 184 other Check it again invalid challenge
75 CBRIO000407 JST2540461 MR KUNAL SONI 184 other Pls check again invalid challenge
MR SUGANDH ’ it should be rechecked. Option . .
76 CBRI0000830 JST2540292 4 lid chall
VISHNOI 18 other no. A will be the right answer. invalid chatlenge
MR A
77 CBRI0000269 JST2540428 SE;:I\L;IIXIAN 184 other Correct answer is option A arrives invalid challenge
The question is
MR VANSHAJ ambiguous or . .
78 CBRI0000245 JST2540086 1 lid chall
NARULA B4 doesn’t make invalid challenge
sense.
Sentence is in present form and
79 | CBRIOD00691 | JST2540248 | MISS KANIKA 184 other pronoun he' takes singular verb. invalid challenge
So the correct answer should be
option A
The question is
MR VANSHAJ ambiguous or N
80 CBRI0000245 ST254
000 1ST2540086 NARULA 186 doesn’t make invalid challenge
sense.
Correct Answer is C.
MR SUGANDH it should be rechecked Option no. . .
81 CBRIO000830 JST2540292 187 Al |
VISHNOI 8 other C will be the right answer. ccordmgly.marks will be
given
MR VISHAL ZhSI;;EZtL‘J:no:'S Correct Answer is C.
82 CBRI0000651 1ST2540302 i i
KUMAR 187 doesn’t make Accordlngly.marks will be
given
sense.
The question is .
Correct Answer is C.
MR VANSHAJ ambiguous or . .
T
83 CBRI0000245 JST2540086 NARULA 187 doesn’t make Accordlngly_marks will be
given
sense.
The question is
MR VANSHAJ ambiguous or . .
84 CBRI000024: 25401 lid chall
00245 IsT 086 NARULA 190 doesn’t make invalid challenge
sense.
8
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SINo Candidate Id Roll No Name Question id | Objection Type Objection Description Remarks
85 CBRI0O000407 JST2540461 MR KUNAL SONI 195 other Pls check again invalid challenge
. - Valid Challenge.
86 | CBRIO000016 | IST2540416 MR AMIT 19 other Arrive 1 STATE arrievs MR, | o\ "oienin Answer key
FAF he smgular%’ as A
87 CBRIO000407 1ST2540461 MR KUNAL SONI 199 other Pls check again invalid challenge
The question is
MR VISHAL ambiguous or . .
|
88 CBRIO000651 JST2540302 KUMAR 2 doesn’t make invalid challenge )
sense.
MR SUGANDH it should be rechecked. option L
89 CBRIO000830 T25402 lid chall
1572540292 VISHNOI 21 other no. D will be the right answer. invalid challenge
90 CBRIO000950 1ST2540376 M:(NﬁHDIT 23 other Check out again invalid challenge
The question is
MR VISHAL ambiguous or T
91 CBRI0000651 1572540302 lid challenge
5403 KUMAR 23 doesn’t make invalid c &
sense.
92 CBRIO000651 JST2540302 MR VISHAL 24 other no comment invalid challenge
KUMAR
93 CBRIO000950 JST2540376 MR RQHIT 25 other Check it out invalid challenge
ANAND
According to me and google the
answer will be Circle i.e. option A
94 CBRI0000729 JST2540295 MR UDAY 26 other and the answer given by you is invalid challenge
option B i.e. Oval please do the
needful.
MR SUGANDH It should be rechecked. Option . .
CBRI T25402 lid chall
% 0000830 1512540292 VISHNOI 3 other no. A will be the right answer. fnvalid cnallenge
The question is
MR VISHAL ambiguous or . .
lid chall
96 CBRIO000651 JST2540302 . 3 doesn’t make invalid challenge
sense.
The question is
MR PRASHANT ambiguous or S
lid chall
97 CBRI0O000907 JST2540364 RAJ DAIYA 3 doesn’t make invalid challenge
sense.
MR SUGANDH it should be rechecked. Option A
CBRI 1ST2540292 nvalid challenge
%8 0000830 | JST254029 VISHNOI 30 other no. A will be the right answer. nvat &
MR ROHIT Correct Answers are C or D.
99 CBRIO000950 JST2540376 32 other Check out Accordingly marks will be
ANAND . .
given to both options
MR SUGANDH it should be rechecked. Option | COTrect Answers are C or D.
100 | CBRIO000830 | JST2540292 32 other 't should be rechecked. Up Accordingly marks will be
VISHNOI no. D will be the right answer. . X
given to both options
101 CBRI0000407 JST2540461 MR KUNAL SONI 33 other Pls check again invalid challenge
102 CBRI0O000651 15T2540302 MR VISHAL 33 other wrong invalid challenge
KUMAR
i ill be B A
103 | CBRIO000729 | JST2540295 MR UDAY 33 other according t°i";e\:/':‘t”er will be invalid challenge
104 CBRI0000950 JST2540376 M:Ni?\‘HDIT 35 other Check it again invalid challenge
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SI No Candidate Id Roll No Name Question Id Objection Type Objection Description Remarks
105 CBRI0000407 JST2540461 MR KUNAL SONI 35 other Pls check again invalid challenge
The answer will be A because
MR YUVRA nowhere is it given that people
106 CBRI0000732 JST2540304 SINGH 35 other want to increase their knowledge. invalid challenge
The statement is an advice and
not an directive.
MR SUGANDH it should be rechecked. Option S
107 CBRI 1512540292 lid chall
0000830 0 VISHNOI 35 other no. A will be the right answer. invalid challenge
The question is
MR VISHAL ambiguous or o ’
108 CBRI0000651 JST2540302 35 lid chall
KUMAR doesn’t make invaid chatlenge
sense.
M
109 CBRI0000693 1ST2540267 RKS&'\:;AJ 35 other Option (A) is Correct. invalid challenge
MR SUGANDH it should be rechecked. Option N
110 CBRI0000830 1ST2540292 36 lid chall
VISHNOI other no. D will be the right answer. nvalid chatlenge
The answer is option D because
the statement says that
successful people are hard
MR YUVRAI working. It does not say that Correct Answer is D.
111 CBRI0000732 JST2540304 SINGH 37 other hardworking people are Accordingly marks will be
successful. given
How can we suppose that hard
would lead to success. Hard work
might lead to nothing as well.
Th tion i
MR VISHAL anilji:zzzr;'rs Correct Answer is D.
112 CBRIO000651 JST2540302 7 ingl ks wil
KUMAR 3 doesr’t make According y.mar s will be
given
sense.
113 CBRI0000651 JST2540302 MR VISHAL 4 other no comment invalid challenge
KUMAR
The question is
114 | CBRIO000651 | JST2540302 MR VISHAL 41 ambiguous or invalid challenge
KUMAR doesn’t make
sense.
115 CBRI0000407 JST2540461 MR KUNAL SONI 42 other Pls check again invalid challenge
MR SUGANDH it should be rechecked. Option L
116 CBRIO000830 JST2540292 42 nvalid challenge
VISHNOI other no. D will be the right answer. nval &
117 CBRIO000950 JST2540376 M:NTNHD” 43 other Re check this one invalid challenge
118 CBRI0000407 JST2540461 MR KUNAL SONI 43 other Pls check again invalid challenge
MR SUGANDH it should be rechecked. Option T
119 CBRI0000830 JST2540292 43 lid challen
000083 VISHNOI other no.A will be the right answer. invaiid chatlenge
The question is
MR VISHAL ambiguous or .
12 CBRIO000651 1572540302 4 lid chall
0 030! KUMAR 3 doesn’t make invalid challenge
sense.
Option A kiwi is different as Kiwi
MR HEMANT is fruit name and also bird name.
invalid challen
121 CBRIO000588 JST2540129 KUMAR 43 other But other options belongs o Bir invalid challenge
Id only.
122 CBRI0000651 1ST2540302 MR VISHAL 44 other 9iscorrect invalid challenge
KUMAR .
The question is
MR YUVRAJ ambiguous or . .
lid challen
123 CBRI0000732 JST2540304 SINGH 45 doesn’t make invalid challenge
sense.
None of the four
124 CBRI0000651 JST2540302 MELYI:/SI:I?L 45 options is the invalid challenge

correct answer.
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SINo Candidate Id Roll No Name Question id | Objection Type Objection Description Remarks
The question is
MR HEMANT ambiguous or
125 CBRI0O000588 JST2540129 4 invali
KUMAR 5 doesn’t make invalid challenge
sense.
MR ROHIT Correct Answer is B.
126 CBRI0000950 JST2540376 ANAND 46 other Check it again Accordingly marks will be
given
Correct Answer is B.
127 CBRIO000407 JST2540461 MR KUNAL SONI 46 other Pls check again Accordingly marks will be
given
Since 2008 is a leap year, it has 366
days.
366 days = 52 weeks + 2 days
So, the day of the week advances by 2
days.
1st January 2008: Tuesday
Correct Answer is B.
MR YASH Add 2 days - Thursday . .
128 CBRI0O000003 JST2540526
KARWASRA 46 other Accordmgly.marks will be
given
Final Answer:
1st January 2009 was a Thursday.
So option (B) Thrusday is correct and
option (A) which is given in answer key
is wrong
MR YUVRAJ Sir this answer is 100 percent Correct Answer is B.
129 CBRI0000732 JST2540304 SINGH 46 other wrong. Please refer to the Accordingly marks will be
calender. The answer is option B. given
Correct Answer is B.
MR SUGANDH it should be rechecked. Option .
130 CBRIO000830 JST2540292 46 th A | i
VISHNOI other no. B Will be the right answer, | ~ccordingly marks will be
given
The correct answer is: Thursday (B)
Explanation:
1. 2008 was a leap year, so it had 366 days.
2. From 1st January 2008 (Tuesday) to 1st
January 2009, there are exactly 366 days,
which is 52 weeks and 2 days. Correct Answer is B.
131 CBRI0000152 1ST2540026 MISS HIMANSHI 46 other Accordingly marks will be
3. Moving 2 days ahead from Tuesday: given
Tuesday -> Wednesday - Thursday.
Hence, 1st January 2009 falls on a Thursday.
So the correct answer is B and my answer is
also B
MR HEMANT 2008 is a leap year, according to Correct Answer is B.
132 CBRI0000588 JST2540129 KUMAR 46 other this, the right answer is Option B | Accordingly marks will be
(Thursday). given
MR ANSHUMAN Correct answer is option B Correct Answer is B.
133 CBRI0000269 JST2540428 4 Accordingl ks will be
SHARMA 6 other Thursday cording| y_mar S Wi
given
MR PANKAI Option (B) is correct. [Hint :- 2008 Correct Answer is B.
134 CBRI0000693 JST2540267 KUMAR 46 other is a Leap Year so two extra dayis | Accordingly marks will be
added to the next year.] given
In normal year first and last day
of the week are always same.
But, in leap year the last day is
next to first day. In question it is
given that 1st Jan, 2008 was
tuesday. So last day should be
Wednesday because there is one Correct Answer is B.
135 CBRI0000691 JST2540248 MISS KANIKA 46 other day extra in leap year so last day | Accordingly marks will be
jumps to next in leap year. In given
guestion it was asked that what
day of the week was 1st Jan,
2009. If last day of 2008 was
Wednesday so 1st Jan, 2009
should be Thursday. So, correct
answer should be option B
depaiment the anowerfor | CoTect Answer .
136 CBRI0000445 JST2540513 MR SHUBHAM 46 other p ! R Accordingly marks will be
question number 46 is (a) and the .
. given
correct answer is (b)
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SINo Candidate Id Roll No Name Question Id | Objection Type Objection Description Remarks
The .corref:t optlon. of th!s Correct Answer is B.
137 | CBRIO000729 | JST2540295 MR UDAY 46 other question will be option Blie. | 0o marks will be
Thursday and the answer given .
by you is wednesday which wrong given
138 CBRI0O000651 1ST2540302 MR VISHAL 48 other wrong invalid challenge
KUMAR
The question is
139 | CBRIOO00651 | JST2540302 ME{YS::L 49 Z’:gf‘fn:;: invalid challenge
sense.
140 CBRIO000950 JST2540376 M:NF;?\]H;T 51 other Check it once invalid challenge
MR ROHIT Correct Answers are B or C.
141 CBRIO000950 JST2540376 ANAND 56 other Cross verify Accordingly marks will be
given to both options
Sir the project cheetah involves
MR YUVRAJ all the countries given in the Correct Answers are B or C.
142 CBRI0O000732 JST2540304 SINGH 56 other option except perhaps kenya. The | Accordingly marks will be
most recent development was given to both options
with Botswana.
Both B and C options are correct.
India brought in 20 adult African
cheetahs from Namibia and
MR RAHUL South Africa in 2022 and 2023 for | Correct Answers are B or C.
143 CBRI0000276 JST2540066 CHAUHAN 56 other its ambitious “Project Cheetah”. | Accordingly marks will be
given to both options
https://www.pib.gov.in/PressRele
aselframePage.aspx?PRID=191820
0
Question No. 56.
The Project Cheetah was
launched by India with Namibia in
September 2022 as the first
African country to send 8
cheetahs. Correct Answers are B or C.
144 CBRI0000152 JST2540026 MISS HIMANSHI 56 other While South Africa also sent Accordingly marks will be
cheetahs later (in 2023), the first given to both options
collaboration and MoU was
signed with Namibia.
Hence, the correct answer should
be: B) Namibia, not C) South
Africa.
The question s Correct Answers are B or C.
145 | CBRI0000588 | JsT2540129 | MRHEMANT 56 ambiguous or Accordingly marks will be
KUMAR doesn’t make . .
given to both options
sense.
The reintroduction of cheetahs in
India under Project Cheetah
involves collaboration with
Namibia and South Africa.
Specifically, the project has seen
cheetahs translocated from both
: e g Correct Answers are B or C.
146 | CBRIO000755 | IST2540278 | MISS RITA BISHT 56 other Namibia (in September 2022) and | *) o marks will be
South Africa (in February 2023) to . X
Kuno National Park in Madhya given to both options
Pradesh. (Source of information
google) As both the answers are
correct so it is creating ambiguity
as to which answer should be
treated right
Option (B) and (c) both are
correct. But according to the PIB
(Press Information Bureau) In Correct Answérs are Bor C.
147 | CBRIOO00693 | JST2540267 MR PANKAJ 56 other September 2022, eight cheetahs | © i o marks will be
KUMAR from Namibia were translocated . .
to Kuno National Park, followed given to both options
by twelve cheetahs from South
Africa in February 2023.
MR VANSHAI T:;;:EZ:ZZ:'S Correct fl\nswers are B or C.
148 CBRI0000245 JST2540086 NARULA 56 doesn’t make Accordingly marks will be

sense.

given to both options
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SINo Candidate Id Roll No Name Question !d | Objection Type Objection Description Remarks
According to me there is 2
correct answer of this question so
149 | CBRIO000152 | IST2540026 | MISS HIMANSHI 61 other i decided to select Srinagar invalid challenge
option but you denied my answer
but my answer is also correct as
you can check
The problem is in the question
itself. In hindi its given "Prithvi ke
vayumandal me sabse adhik
matra me kon si gas paai jaati
hai? But in english it's asked
'Least Abundant’
This question is completely invalid challenge.
150 CBRIO000003 1ST2540526 MR YASH 63 other colntradnctory. W.heneve.r there is Er.1gI|sh ch:rswn |§ final a? per
KARWASRA disperancy english version shall instruction 10 in question
be prevail but that happens when booklet on pg. 2
there is minor difference in
question. This question is
contradictory which is injustice to
hindi students. So students who
done both option (B) and (C)
should be given mark.
Nitrogen gas is abundant in the invalid challenge.
151 CBRIO00058S 1ST2540129 MR HEMANT 63 other Earth s atmosphen‘e. Acc?rdlngly, Erjngllsh Vt'3r5|on |.s final a§ per
KUMAR right answer is Option instruction 10 in question
B(Nitrogen). booklet on pg. 2
invalid challenge.
152 CBRI0000269 IST2540428 MR ANSHUMAN 63 other Correct an.?wer is option B Er}gllsh Vf:‘r5|on |.s final af, per
SHARMA Nitrogen instruction 10 in question
booklet on pg. 2
This question is cotradictory in
nature. According to the English invalid challenge.
153 CBRIO000693 1ST2540267 MR PANKAJ 63 other Language the correct ,.Answer is El'.lg|ISh Vgrsson 1.5 final af per
KUMAR Option (C) and According to the instruction 10 in question
Hindi Language correct Answer is booklet on pg. 2 -
Option (B).
154 CBRIO000407 JST2540461 MR KUNAL SONI 69 other Pls check again invalid challenge
155 CBRI0000407 1ST2540461 MR KUNAL SONI 72 other Pls check again invalid challenge
invalid challenge.
156 | CBRIO000950 | JST2540376 MR ROHIT 79 other Check it again English Version is final as per
ANAND instruction 10 in question
booklet on pg. 2
invalid challenge.
The translation of question is . L
final
157 | CBRIO000368 | JST2540159 MR NIPUN 79 other wrong and acc. to the english | 815n Version is final as per
SHARMA R . . instruction 10 in question
translation, there is no option.
booklet on pg. 2
The question is invalid challenge.
- . ion is fi
158 | CBRIOO00152 | JST2540026 | MISS HIMANSHI 79 ambiguous or English Version is final as per
doesn’t make instruction 10 in question
sense. booklet on pg. 2
invalid challenge.
The Mars planet is known as the . L
English Vi final as per
159 | CBRIOOOOS88 | JsT2sd0120 | IR HEMANT 79 other Red Planet. Accordingly, right | & "croon isTinalasp
KUMAR answer is option B(Mars) instruction 10 in question
P ’ booklet on pg. 2
invalid challenge.
MR ANSHUMAN . . English Version is final as per
CBRI0000269 IST 7
160 0026 2540428 SHARMA 9 other Correct answer is option B Mars instruction 10 in question
booklet on pg. 2
The question is invalid challenge.
] . ion is final
161 | CBRIO000933 | JST2540378 MR SACHIN 79 ambiguous or English Veersion s final as per
doesn’t make instruction 10 in question
sense. booklet on pg. 2
This question is contradictory in
nature. According to the English
Language of the question correct invalid challenge.
A is (Earth) which i English Version is final as per
162 | CBRIOO00693 | IsT2540267 | MR PANKAI 79 other nswer is (Earth) which is not | English Version is final as p
KUMAR given in the options. But instruction 10 in question
according to the Hindi Language booklet on pg. 2
of the question correct answer is
Option (B).
The question is invalid challenge.
MR VANSHAJ ambiguous or English Version is final as per
163 CBRI0000245 4512540086 NARULA 9 doesn’t make instruction 10 in question

sense.

booklet on pg. 2
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Candidate Id

SINo Roll No Name Question Id Objection Type Objection Description Remarks
In the key sent by the invalid challenge.
164 CBRI0000445 IST2540513 MR SHUBHAM 79 other deFJartment, the a.nswer for Er?glxsh Vt.ersmn |'s final a? per
question number 79 is (d) and the | instruction 10 in question
correct answer is (b) booklet on pg. 2
invalid challenge.
T 3R SfTerer St 89T & U | English Version is final as per
165 CBRI0O000016 1ST2540416 MR AMIT 79 th
other 37T 3T & instruction 10 in question
booklet on pg. 2
invalid chall .
Given answer in the answer key is En IisllwnJ:rlsdi;n ?s ?i:i‘leas or
166 CBRI0000729 JST2540295 MR UDAY 79 other wrong and the right answer will .g . R K P
be Option B i.e. Mars/Mangal instruction 10 in question
P - & booklet on pg. 2
167 CBRI0O000950 JST2540376 M:NTNH[:T 83 other Check it again invalid challenge
The question is different in both
MR PRASHANT
168 CBRIO000907 JST2540364 SHAN 83 other languages. | prefered hindi invalid challenge
RAJ DAIYA - .
because | am from Hindi medium.
The question is
MR VANSHAJ ambiguous or . .
169 CBRI0000245 1ST2540086 83 lid chall
NARULA doesn’t make invaiid chatlenge
sense.
The question is
MR VANSHAJ ambiguous or . .
170 CBRI0000245 1ST2540086 88 lid chall
NARULA doesn’t make invalid challenge
sense.
The question is
171 | CBRI0000245 | JsT2540086 | MR VANSHAI 91 ambiguous or invalid challenge
NARULA doesn’t make
sense.
Confused in questllon ‘langu.age invalid challenge.
both languages hindi english English Version is final as per
172 CBRI0000152 JST2540026 MISS HIMANSHI 92 other makes different and i prefer hindi .g K . . P
| R dingly t instruction 10 in question
anguage ?o |‘go accpr ingly to booklet on pg. 2
hindi question
The question is invalid challenge.
173 CBRIC000588 1ST2540129 MR HEMANT 92 ambiguous or Er?gllsh V?r5|on |.s final a? per
KUMAR doesn’t make instruction 10 in question
sense. booklet on pg. 2
MR ANSHUMAN Correct answer is option C pacific invalid challenge.
174 CBRI0000269 1ST2540428 92 other orrect answer {5 option & p English Version is final as per
SHARMA ocean . . . .
instruction 10 in question
The question is invalid challenge.
i i i ioni English Version is final
175 CBRIO000933 1ST2540378 MR SACHIN 9 ambiguous or Sl_r 1 a.xttempt this question |r.1 r.\g is| §r5|on |.s ina a§ per
doesn’t make Hindi language but answer is instruction 10 in question
sense. booklet on pg. 2
invalid challenge.
The question is different in both . .
English V. final
176 | CBRID000907 | JsT2540364 | MR PRASHANT 92 other languages. | prefered hindi nglish Version Is final as per
RAJ DAIYA L . instruction 10 in question
because | am from Hindi medium.
booklet on pg. 2
This question is contradictory in
nature. According to the English invalid challenge.
177 CBRIO000693 1ST2540267 MR PANKAIJ 92 other Language of.the questlon correct Er?glnsh V(.ersmn |.s final a§ per
KUMAR answer is Option (D) but instruction 10 in question
according to the Hindi language booklet on pg. 2
correct answer is option (C)
invalid challenge.
T ST AGTHER SR1icT English Version is final as per
178 CBRIO000016 JST2540416 92
0 MR AMIT other FEENR &1 instruction 10 in question
booklet on pg. 2
| optejd Hindi m'edo'um as.a invalid challenge.
medium and hindi of this English Version is-final as per
179 CBRI0000729 JST2540295 MR UDAY 92 other question is different form english .g X . .
instruction 10 in question
and | choose the answer booklet on )
according to Hindi. Pe-
The correct answer is Godavari
River, which is widely and
officially referred to as the Ganga
of the South in geography books
180 CBRI0000152 JST2540026 MISS HIMANSHI 94 other and government references. invalid challenge

However, Godavari was not even

listed among the options, making

the question factually flawed and
unanswerable.
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SINo Candidate Id Roll No Name Question id Objection Type Objection Description Remarks
None of the four
181 CBRIO000693 JST2540267 Milﬁ:ﬂ'\:;m 94 options is the invalid challenge
correct answer.
The question is
MR VANSHAJ ambiguous or R
182 CBRI0000245 JST2540086 94 i lid chall
NARULA .. ...| .doesn’t make invalid chatienge .
sense.
The language meaning of both invalid challenge.
183 CBRI0000152 1ST2540026 MISS HIMANSHI 95 other sentences 'IS n.-lakes a difference i Erlxghsh V?r5|on «ls final a.s per
prefer hindi language so 1 go instruction 10 in question
accordingly to hindi language booklet on pg. 2
invalid challenge.
184 CBRIO000269 1ST2540428 MR ANSHUMAN 95 other Correct o'ptlon is option A Dr Er‘1gl)sh Vgrsmn |.s final a§ per
SHARMA Rajendra prasad instruction 10 in question
booklet on pg. 2
The question is invalid challenge.
185 | CBRIO000933 | JST2540378 MR SACHIN 95 ambiguous or English Version is final as per
doesn’t make instruction 10 in question
sense. booklet on pg. 2
invalid challenge.
The question is different in both . L
186 CBRIO000907 1ST2540364 MR PRASHANT 95 other languages. | prefered hindi E?gIISh V«.ersmn I.S final a? per
RAJ DAIYA . . instruction 10 in question
because | am from Hindi medium.
booklet on pg. 2
invalid challenge.
. y English Version is final as per
187 CBRI0000016 JST2540416 qgé zlsgqié Toleg JHTE
MR AMIT % other st ¥ instruction 10 in question
booklet on pg. 2
The question is
! MR VANSHAJ ambiguous or A
188 CBRI000024 T2541 lid chall
5 1ST2540086 NARULA 98 doesn’t make invalid challenge
sense.

Accordingly, Revised answer keys of Question paper is also enclosed herewith. It is further,informed to all the candidates that this is
final and further challenges/objections received in this regard, in any form from the candidates will not be entertained at all. /

Section Officer R&A
CSIR-CBRI
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